Solutions – Week 3 (2)
1. 
See LINDO output.
5. 
x1: # of ounces of A

x2: # of ounces of B


x3: # of ounces of C


Min
0.1x1 + 0.03x2 + 0.09x3


s.t.
x1 + x2 + x3 >= 10

x1 + x2 + x3 <= 15



x1 >= x2 ( x1 - x2 >= 0



x3 >= 1/2x1 ( x3 – 1/2x1 >= 0


x1 = 4

x2 = 4


x3 = 2
17. 
x1: # of frames to manufacture

x2: # of frames to purchase


x3: # of supports to manufacture

x4: # of supports to purchase


x5: # of straps to manufacture

x6: # of straps to purchase


Min
38x1 + 51x2 + 11.5x3 + 15x4 + 6.5x5 + 7.5x6

s.t.
x1 + x2 = 5000

x3 + x4 = 10000

x5 + x6 = 5000



3.5x1 + 1.3x3 + 0.8x5 <= 21000



2.2x1 + 1.7x3 <= 25200



3.1x1 + 2.6x3 + 1.7x5 <= 40800

a)
x1 = 5000

x2 = 0


x3 = 2692

x4 = 7308


x5 = 0

x6 = 5000

b)
$368,076.92

c) 
cutting: 350


milling: 259.6

shaping: 375
